

INTERNATIONAL JOURNAL OF ENGINEERING SCIENCES & RESEARCH TECHNOLOGY

THE APPARENT DEPTH OF OBJECT THROUGH LARGE ANGLE

Sawsan Ahmed Elhouri Ahmed*, Mubarak Dirar Abd-Alla, Entisar Alrasheed Sid Ahmed

* University of Barhi - College of Applied & Industrial Sciences-Department of Physics - Khartoum

Sudan.

International University of Africa College of Science-Department of Physics & Sudan University of Science & Technology-Departments of Physics- Khartoum – Sudan.

University of Barhi - College of Applied & Industrial Sciences-Department of Mathematics – Khartoum Sudan.

ABSTRACT

New approach to find the apparent depth was carried out in this work, with in mind taking large angle, instead of the usual small angles taken in this condition.

Two methods were carried out, the angle taken is about $(> 10^\circ)$.

KEYWORDS: refractive index, apparent depth, real depth.

INTRODUCTION

Most of the researches in optics, light and engineering optics used to find the apparent depth value of an object at depth (h) with refraction index (m') and depth (m) for small angles only. In this work we are going to find the apparent depth (h) for an object through large refractive angle through the medium where it is found where the refractive index is (m) through large angle (>10°)[1,2].

In order to prove our theory, we used different ways to find the apparent depth.

The Theory

First we found the apparent depth for an object looking at through large angle $(> 10^\circ)$. We found out the following[3,4].:

$$h = \frac{m}{m'} k \frac{\cos^3 x}{\cos^3 x'}$$
, where h is apparent depth

When the angle is very small the equation well be in the form:

$$h = \frac{m}{m'} k$$

The above equation represents the apparent depth law for small angles.

Method one From the fig. (1) finding (bc) using (k) & (x')

http://www.ijesrt.com







Let
$$\cos dx' = 1$$
 , $\sin dx' = dx'$

$$\frac{k}{nc} = \cos (x + x'd) = \cos x \cos x'd - \sin x \sin x'd$$

$$\frac{k}{nc} = \cos x' - \sin x' \cdot x'd$$
(1)
$$\frac{k}{nb} = \cos x'$$
(2)
$$\frac{dc}{dc} = \sin (x' + x'd) = \sin x' \cos (x'd) + \cos x' \sin (x'd)$$

 $\frac{dc}{nc} = \sin(x'+x'd) = \sin x' \cos(x'd) + \cos x' \sin(x'd)$

$$= \sin x' + \cos x' \cdot x' d \tag{3}$$

$$\frac{bd}{n\,b} = \sin x' \tag{4}$$

$$\frac{k}{l'} = \cos x'$$

$$bc = cd - bd = nc (\sin x' + \cos (x') x'd) - nb \sin x'$$
(5)

$$b c = \frac{k (\sin x' + \cos x' \cdot x'd)}{\cos x' - \sin x' \cdot x'd} = \frac{k \sin x'}{\cos x'}$$
$$b c = \frac{k (\sin x' \cos x' + \cos^2 x' \cdot x'd)}{(\cos x' - \sin x' \cdot x'd) \cos x'}$$

$$bc = \frac{k(\cos^2 x' + \sin^2 x')x'd}{(\cos x' - \sin x'.x'd)\cos x'} = \frac{k x'd}{(\cos x' + d \cos x')\cos x'}$$

$$\begin{aligned} \text{Method Two} \\ bc &= c d - b d = (l' + d l') \sin(x' + x' d) - l' \sin x' \\ &= (l' + d l') (\sin x' \cos x' d + \cos x' \sin x' d) - l' \sin x' \\ &= (l' + d l') (\sin x' + \cos x' \cdot x' d) - l' \sin x' \\ &= l' \sin x' + l' \cos x' \cdot x' d + l' d \sin x' + l' d \cos x' \cdot x' d - l' \sin x' \end{aligned}$$

 $= l' \cos x' \cdot x' d + l' d \sin x'$ From the fig. (1)

http://www.ijesrt.com

© International Journal of Engineering Sciences & Research Technology

$$\frac{l'd}{cb} = \sin x' = l'\cos x' \cdot x'd + cb\sin^2 x'$$

$$cb\left(1 - \sin^2 x'\right) = l'\cos x' \cdot x'd$$

$$cb\left(\cos^2 x'\right) = l'\cos x' \cdot x'd$$

$$cb = \frac{l'}{\cos x'} \cdot x'd = \frac{k \cdot x'd}{\cos^2 x'}$$

Finding (be) = l Notice the fig. (2)



$$\frac{f}{cb} = \cos x \quad , \ \frac{f}{l} = xd \quad , \text{ then } f = cb\cos x = l.xd$$
Then $l = \frac{cb\cos x}{xd} = \frac{k}{\cos^2 x'}\cos x \frac{x'd}{xd}$

Finding (ae) = h=apparent depth From the fig. (2)

$$\frac{a \ e}{l} = \cos x \implies a \ e = l \cos x \implies a \ e = k \ \frac{\cos^2 x}{\cos^2 x'} \cdot \frac{x \ d}{x'} \ d$$

But $m \sin x = m' \sin x'$

$$\frac{d}{xd}.m\sin x = \frac{d}{xd}.m'\sin x'$$

$$m\cos x = m'\frac{x'd}{xd} \cdot \frac{\sin x'd}{x'd} = m'\frac{x'd}{x'd}\cos x'$$

http://www.ijesrt.com

© International Journal of Engineering Sciences & Research Technology

$$\frac{x'd}{x'd} = \frac{m}{m'} = \frac{\cos x}{\cos x'}$$

$$c = ae = \frac{m}{m'} k \frac{\cos^3 x}{\cos^3 x'}$$

$$c = \frac{m}{m'} k$$

CONCLUSION

The above derivation of equations proven that our theory coincides with the laws of the apparent and real depth theories when the angels are (x) and (x') are of small values.

When the angles (x) and (x') are so small we find out that this is the apparent and real depth laws where $\cos x = 1$ and $\cos x' = 1$ where x = 0 and x' = 0.

REFERENCES

- R. Paschotta, article on chromatic dispersion in the Encyclopedia of Laser Physics and Technology, accessed on 2014-09-08
- [2] Carl R. Nave, page on Dispersion in HyperPhysics, Department of Physics and Astronomy, Georgia State University, accessed on 2014-09-08
- [3] R. Paschotta, article on Sellmeier formula in the Encyclopedia of Laser Physics and Technology, accessed on 2014-09-08
- [4] Dresselhaus, M. S. (1999). "Solid State Physics Part II Optical Properties of Solids" (PDF). *Course 6.732* Solid State Physics. MIT. Retrieved 2015-01-05.